

$$y = \frac{1}{\sqrt{x-4}} = (x-4)^{-\frac{1}{2}}$$

$$y' = \frac{-1}{2}(x-4)^{-\frac{1}{2}-1} = \frac{-1}{2}(x-4)^{-\frac{3}{2}} = \frac{-1}{2(x-4)^{\frac{3}{2}}} = \frac{1}{2\sqrt{(x-4)^3}}$$

$$y = \frac{1}{\sqrt{x-4}} \quad y' = \frac{-1}{2\sqrt{x-4}} = \frac{-1}{2\sqrt{x-4}(\sqrt{x-4})^2}$$

Jueves, 4 de junio

Pág. 326, 10 b c g

$$y = \left(\frac{1}{3x} + \frac{x}{3}\right)^4 \quad y' = 4\left(\frac{1}{3x} + \frac{x}{3}\right)^3 \left(\frac{-3}{(3x)^2} + \frac{1}{3}\right) = 4\left(\frac{1}{3x} + \frac{x}{3}\right)^3 \left(\frac{-3}{9x^2} + \frac{1}{3}\right) = 4\left(\frac{1}{3x} + \frac{x}{3}\right)^3 \left(\frac{-1}{3x^2} + \frac{1}{3}\right)$$

$$y = \left(\frac{1}{3x} + \frac{x}{3}\right)^4 = \left(\frac{1+x^2}{3x}\right)^4 \quad y' = 4\left(\frac{1+x^2}{3x}\right)^3 \left(\frac{2x \cdot 3x - (1+x^2)3}{(3x)^2}\right) = 4\left(\frac{1+x^2}{3x}\right)^3 \left(\frac{6x^2 - 3 - 3x^2}{9x^2}\right) =$$

$$= 4\left(\frac{1+x^2}{3x}\right)^3 \left(\frac{3x^2 - 3}{9x^2}\right) = 4\left(\frac{1+x^2}{3x}\right)^3 \left(\frac{x^2 - 1}{3x^2}\right)$$

$$y = \sqrt[3]{(6-x)^2} = (6-x)^{\frac{2}{3}} \quad y' = \frac{2}{3}(6-x)^{\frac{2}{3}-1} = \frac{2}{3}(6-x)^{-\frac{1}{3}} = \frac{2}{3} \frac{1}{(6-x)^{\frac{1}{3}}} = \frac{2}{3\sqrt[3]{6-x}}$$

$$y = x^3 \cos^2 3x \quad y' = 3x^2 \cos^2 3x + x^3 \cdot 2 \cos 3x (-\operatorname{sen} 3x) \cdot 3 = 3x^2 \cos^2 3x - 6 \cos 3x \operatorname{sen} 3x$$

$$y = \sqrt{7 \operatorname{Ln} x} \quad y' = \frac{7 \frac{1}{x}}{2\sqrt{7 \operatorname{Ln} x}} = \frac{\frac{7}{x}}{2\sqrt{7 \operatorname{Ln} x}} = \frac{7}{2x\sqrt{7 \operatorname{Ln} x}}$$

Pág. 326, 11 c d e